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A7 A A gu] (w/kg) 3 v 3 3 50 86.5
B : 3| 4&v] (w/kg) 5 v 5 £ 60 134.4
G:EsY AFTHE(TF X cavity) (kg 7 ST 7 64 169.6

Y 358 (%) 9 3 9 70 210
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L : loss (%) 13 JI37| 13 77 277.63
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LIST «A}M 217} HAI2 PROGRAM SAMPLE *

- .95 Al = V1 * PC(1 :A2 = V2 * PC(I):A3
é ggﬁB(BMI 7 - V5 * PC(I§:A4 = V4 * PC(I):AS = V
S INPUT 'NUMBER OF ITEMS= ;AA 5 *IPC(g):A38—*VngI§C(I):A7 - V7 *
10 DIM U(AA),N(AA),B(AA) ,W(AA) ,K(AA), Lo0 FECE %iA* PC(1) F2 = 22 * PC(I):F3 =
15 igéA?);Eﬁ(ﬁg)AA 23 * PC(I): F4 = Z4 * PC(I):F5 =
. - * . = 27 *
16 READ U(I),N(I),B(I),W(I),K(I),PC(I), gg(;;’ggz-;g N 5‘5(1)"‘3“) F7
ER(I) (F8 = :
17 NEXT I 102 Q0=4g§é) * pC(I) / 1000:L = Q * 1000/
18 INPUT "X1=;X1$: INPUT "X2="':X2$ - B L
s S ga SRIGTS T A 1 RAIAF < AF + ASIAG -
(X2$,1) = "§" THEN QQ = 1 tAE = PAF = AR+ A0 AL =
20 X1 = VAL (X1$):X2 = VAL (X2$) AG + AS‘AHlTFéH_ ;cAz';;-ﬁnAE ;DAE
2} IF XS = U OR XI§ = VT THEN X1 = 1 e ngiFgﬁ +Fg . F4:FF = FF + E5:FG
- . - + . = M =
22 FOR I = X110 X2 FG + F6:FH = FH.+ F7:FK = FK + F3
24 X = g(l)> N(I) , 108 QX = QX + Q:LX = LX + L
26 IF 10 = » X AND X > 0 THEN Y = = LA = e e
G5y B 10 O DL, e,
28 IF 20 = > X AND X > 10 THEN Y = 3 S ; = ; ;
(X + 60)>/ 100 ’ ="j% (1), SPC(2); ”K(I%=";Féé}i)sch§)
. =11, . . n =tt.
30 M =X/ (1-B(I)/100) x (0.95 * Y) Erﬁg(ééé(iﬁg(ihé—i?gé )épc(zj”D=HjD.
- * 3 ¥ = 3 » 3
23 ﬁg - ;73/0 25 X SPC(2) ;"C="";C; SPC(2);"G=";G
45 RC = 110 * RS 120 PRINT "Si=';Si; SPC(2);"'S2-";82,
47 MS = MC - RC SPC(2) ;"'83="";53; SPC(2);"S4=";54;SPC
. - . . . =1l. .
49 IF 6 = >X AND X ) 0 THEN T = 343 &2‘),"E?—;,.SS,CSPZ’CFi)Sé:Ef?SS,SG, SPC(2)
50 IF 8 =3 X AND X > 6 THEN T - 353 ;57213875 SPC(2) 111S8="5s
51 IF 11 =) X AND X ) 8 THEN T - 362 125 PRINT "T1=";T1; SPC(2);"T2="";T2,
52 IF 20 = ) X AND X ) 11 THEN T - 380 SPC(2) ;"'T3=";T3s SPC(2):"Td=",T4;
S3 D=T/ (1 - B(B) / 100 SPC(2) ;"T5=";T5; SPC(2);"T6="";T6;
54 IF W(I) = O THEN P = 0 SPC(2) ;"T7=",T7; SPC(2);"T8="1;T8
55 IF 0.05 = > W(I) AND W(I)) 130 PRINT "V1=":V1; SPC(2);"V2 =";V2;
0 THEN P = 500 SPC(2);"V3 = "M;V3; SPC(2);"V4 =";V4;
56 IF 0.10 =) W(I) AND W(I)) SPC(2);"V5 = ",V5; SPC(2);'"V6 = ';V6;
0.05 THEN P = 450 SPC(2);:"V7 = ";V7; SPC(2);'"V8 = ";V8
57 1IF 0.50 = > W(I) AND W(I)> 140 PRINT "'Z1=";Z1; SPC(2);"Z2 =";Z2; SPC
0.10 THAN P = 350 (2);"23 = ":Z3; SPC(2);"Z4 = ";Z4; SPC
58 IF 1.00 = > W(I) AND W(I)) (2);"25 = ";Z5; SPC(2); "26 = ";26;
0.50 THEN P = 300 SPC(2);"27 = ';Z27; SPC(2);"28 = ";I8
59 IF 3.00 = > W(I) AND W(I)? 145 PRINT "Al="";Al; SPC(2);"A2-''";A2; SPC
1,00 THEN = 250 (2);"A3 = ";A3; SPC(2);"A4 = ';A4;
60 IF 5.00 =) W(I) AND W(I)) SPC(2);"A5 = ",AS: SPC(2); A6 = "jA61
3.00 THEN P = 230 SPC(2);M™A7 = M;A7; SPC(2); "A8 = '";A8
61 IF 10.0 = » W(I) AND W(I)) 150 PRINT "Fi1=";Fl; SPC(2);""F2=";F2; SPC
5.00 THEN P = 200 HEA = .Fd -
) 2)3"F3 = '";F3; SPC(2);"F4 = '";F4; SPC
64 C = W(I) * N(I) * P/ (1 - B(I) / 100) i suirs specs e = nabes ShC
65 IF 3 = » U(I) AND U(I) ©0.05 THEN E (2)MF7 = "iE7; SPC(2);"E8 =''.F8
= - 20 * U(I) + 89 155 ’NT =t "SPC 2 ,"L=“‘L
66 IF 20 = > U(I) AND U(I)> 3 THEN B =  Loo PRINT Q@5 SPC(2), WAL
30 / U(I) + 19 S e s
68 G = X *E * K(I) 165 NEXT I
70 51= M5 +D+C+G) /X 170 PRINT TAB(10);''******* SUMMARY ****
7182.= 81+ 27.%7 175 PRINT "AB=';AB; SPC(2);"AC=";AC; SPC
72 53 =52+ 17.89. (2) ;"AD = ";AD; SPC(2);"AE=";AE; SPC(2)
73 'S4 = 83 + 17.15 ;"AF=";AF; SPC(2);"AG="';AG; SPC(2);"AH
74 S5 = S4 + 55 =M AH; SPC(2) 3MAK="";AK
75 86 = S5 + 40 100 PRINT "FB='";FB; SPC(2);"FC=";FC; SPC(2)
76 S? = 56 + 33.39 ;||FD=";FD; SPC(Z);HFE=";FE; SPC(z) ;"FF
77 S8 = §7 * 1.1 =";FF; SPC(2);"FG=";FG; SPC(2);"FH="';FH
79 R = 45.36 / ER(1) . 8PC(2) ;"FK=";FK
S0 TL = S1*R:T2 = 82 * RT3 = 83 * R:T4 g5 "ppiNT "Quer;QK; SPC(2);"LX=";LX
R:T7 * §7 * R:T8 = S8 * R
- 1 TA U(I),N(I)},B(I),wW(1),K(I),PC(I),
85 V1 = S1 * U(I):V2 = S2 * U(I):V3 = S3 95 g§¥I?A A U(1),N(1),B(D), W), K (D)
* U :v4 =S4 *ULT):Vs = 85 % U(1):V6 551 paTA 0.3,12,.15,0.1,1.5,10000,880
=56 X UD):V7 = 57 * U(1):V5=S88* UL} 30 paTA 0:3,12,0.1,0.1,1.5,10000,880
87 H =1/ ER (1) PTaTTa Ty ’
RO 203 DATA
90 21 = V1 * H:22 = V2 * H:Z3 = V3 * H:Z4 204 DATA
= V4 * H:25 = VS * H:26 = V6 * H:27 205 DATA
= V7 * H:28 = V8 * H
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